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then —— is equal to-
dx

If Y=
\ﬂ 1+XG_Q+ Y-a * a- -t
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(C) (0 + B+ y)x+per- Cpisk:
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a;(ﬁ" sin/3 x) equals- S B
(A) ersin(\/3 x +m/3) . (B) 2¢*sin(v/3 x + 7/3)
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/ d , .
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dx
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(A) /az _XZ

7. Atx=y n(xy):

(B) aja’ +x’

dx
then — equals-
dy

/ y(x—Y) X(x+Y)
RO B) y(x-)
' equals-

| dy
/ If (cosx)’= (siny)", then g0
e

logsiny —ytanX
(A) Jogcosx +xcoty

logsiny +ytanX
(©) Jogcosx+xcoty

1
©) > (D) x \Ja’ +x

a +X
y(x+y) x(x—y)
C —
) x(x=y) ®) yxry)
logsiny +ytan x
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, . dy
{9./ If 2%+ 2y=2*Y, then d: is equal to-

2" +2° 2% 42 (2¥ -1
(A) 57 (B) T ©) 27 T
; . dy
y If x = a(t - sint), y = a(1 + cost), then Y equals-
S . L
(A) —tan 5 (B) coté— (C)-cot 5
12 ° ——
/11. The differential coefficient of sec™'| 55 | W.I.L. \/]--x" is-
2x° -1
(A) 1/x? (B) 2/x* (C)x/2
i . y
%., If x3— y* + 3xy? — 3x%y + 1 =0, then at (0, 1) Yy equals-
(A) 1 (B)-1 (©)2
13 . (tan_,(]-mcos{)n uals, if T <0 <m
. Feaps C . e Vi
S do sne J)
(A) 172 (B) 1 (C) secH
d  fl+x
v4. ——cot (——) is equal to, if x > —1
dx \1-x
1 I ol
A (B) 132 (e
dy
15, Ify=tan"(cotx) + cot”(tanx), then I S equal to-
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d = \/;(_-'X
~ —|tan'| ——= || equals-(x 20
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1 1 1 1

1 1
(%) Wx(1+x) 1+x° ®) 2«/;<-(l+x)+1+><2 © 15 12

17, Ifgisthe inverse of fand f(x) = 1+1x3 then g'(x) is equal to-

|
®) 307 © 20+

(A) 1+ [g)P

18,/ Ifx*+y*=1, then-
(A) 33" - 267+ 1=0
©yy" +(P-1=0

@)y et 4el =8
(D) yy" +2(y')+ 1 = 0

2" +y-2°

D) —5y

t
(D) tan 5

(D) 2/x
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(D) cosecH
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(D) -2

1 1
+
P 1+x’

1
(D) I+[g(x)]3



